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len(fruits_list) = 14
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fruits set = {

len(fruits_set) = 4
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fruit_list = ['BL&', '$8R', '58R', 'BF', B, '&F', 8%,
R85, EBR,BE, 5%, ?’ﬁ?*ﬁ', ':FE%]

fruit_set = {B&', 38R, 35R', 'BF ', B 'BEF, "85,
R85, ER,BE, 9% ?ﬁf*ﬁ ':FE%}
print('SBFEEL: {fruit_list}, ESEEL:
{fruit_set}'.format(fruit_list=len(fruit_list),
fruit_set=len(fruit_set)))

print(&£ 5 A: {fruit_set} .format(fruit_set=fruit_set))
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thisset = {38R', '&85', '§%', 'Bl&'}

print('L. B{cnt}iE/K R format(cnt=Ilen(thisset)))

print('2. =REEEESF? {check} .format(check=("t=R" in thisset)))

# Frig—1&

thisset.add('#17") MITESR

# FTIEZ(E

thisset.update(['F8/I\', 'T=5R', "1# k')

print('3. B{cnt}iE/KR" format(cnt=len(thisset))) 1 E4$§7J<%

print('4. =REEEESF? {check} .format(check=("t=R" in thisset))) TREEEEST? False
# BIRTR 3 ﬁS%@K%
thisset.remove('t=%") TREEEEEGT? True
print('5. =REEEE S F?{check} .format(check=("t=5" in thisset))) TRESEESG P False
#BEZEER 6 BO0fEKR
thisset.clear() A
print( 6. B{cnt}iE/KR" format(cnt=len(thisset)))
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thisset.remove(item) thislist.discard(item)
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thisset = {'385R', 'B5 ', &% '} thisset = {38R', '&55', "85}
thisset.remove(' =) thisset.discard('t=%")
print(thisset) . print(thisset) _
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thisset = {38R', &85, 'B &'}
thatset = {E%&', 'ElFY')
print(thisset & thatset)
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thisset = {#8R', '&5%', 'B.2')
thatset = {&%"', 'Bl 3"}
print(thisset | thatset)
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thisset = {58, '@ %', B2}
thatset = {Bl.&Y', 'T=3'}
print(thisset - thatset)
print(thatset - thisset)

lSdice‘

7




_?Eﬁ__,\lﬂ’ﬂ

THESZEE
(https://www.w3schools.com
/python/python_sets.asp)
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